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Alcohol Testing Program
e Date In 5/’2% LT Date Out/ _/(ﬁ !I' 1 Bship Qp/U QH/D Qcmi Qee
Intake Performed B’{ fX\ ) Quality Checks  Performed By S 1 Flow Calibration Performed By
U Registration ﬂl Lab Temp °C /C?A 7] te ||| @ Flow Calibration N/A ’Ts
[ Annual Breath Tube Screen =i U Flow Calibration Complete E./l/ L
O Return from CMI g Replace External O-Rings Flow Column # i!éﬂ £D
O Return from Enforcement Instrument Set Up Verified O 5L/min-17mm 0
Electronics Bl R-value |5 a 15L/mm4l é?)‘ Zﬂf/’
O Other ﬁ Flow Verification (L/s) O 30L/min-10 rﬁ‘es
Visual Inspection: Flow Column# AT Plﬂ 9 O R-Value "7
_{.‘)ﬁ Case O_Li Handle 32mm JQQ (.139-.169) | Q Post Calibration Verification (L/s?gfa,b
M Dry Gas Holder ¥ Feet 36mm _ [ 51y (.156-.190) Flow Column #
O Keyboard/Plug % Back/Plugs 53mm - 23 Y% (.228-.278) 32mm (.139-.169)
M4 Screws tight (< _Breath Hose 103mm _. fzz (.447 - .547) 36mm (.156 - .190)
Barometric Pressure Check 53mm (.228 - .278)
Other Equipment: - Gauge ID # 2 103mm (447 - 547)
Power cord Stability Checks Maintenance Performed By
O  Printer Cable Isimulator | Serial # Lot #/Exp O Battery Replacement
O Other 0.05 ilg)e U Dry Gas Regulator Replacement
SOFL g@gﬁ{g@ d  Breath Tube Replacement
0.08 O Other
Notes: DRIQ9 ﬁ?llg | llg Quality Checks Cont. Performed/Byg__T ofof
0.2 ; Simulator Temperatures °C - 5131 1 H
L DRIE5L 3?:?%;0 External Digital Therm. ID#: Q0505 %
0.08 DGS N/A Gio24ptoli . 34°C+-2 Serial#: SN X2 |SD &i
2218 34°C +-.2 Serial #: D %:[1 SDB%_
M‘ 34°C +-.2 Serial #: l_)_e—\ !g SO
Calibration Adjustment Performed By >/ Department Inspection Performed By 7 %
- Calibration Adjustment N/A y Barometric Pressure a\___ || (@ Gauge |Oh6 2
Calibration Adjustment Complete ID#§ Lifa") 1O \ ‘-} Instrument [HOS
Barometric Pressure Gauge 5 p# cQg}L} oL | _
Simulator | Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # 201l -A 0iC
0.000 SDIOI9 N/A N/A Acetone Stock Solution Lot # K017 A 20(-A
0.040 50 1018 [@ 8 QO 7)) 2= |5 Simulator Ser:af Number 2
'q_DIO (3 M0Go |2 1919 Interferent C] 23 L{ (2 al<§3
0.200 SDio il (090 12-24-9 || o0 SO039uwa SO
0.300 DRIRTIS kY i liIR-19-1g 0.08 DRI219 SOPHe
0.08006S | N/A <PIAE 1561505002 7-5-77| | [0.20 DRI 5DIY3I
. Post Calibration Adjustment Stability Checks
Simulator Serial Number” | Lot Number | Expiration Attachments
0.05 SO | 2010030 | 3-5- S K Forma1 x2 | Calibration Adjustment
0.08 SO0 4 RoWeliB [ IH-15-18 G Pre-Stability Tests é Post-Stability Tests
0.20 SD39332 (20 WhYC thots-18 Q  Flow Calibration Other
| 008DGS | N/A AGWIZ2405 5-3-1%
Notes/Suggested Service: )ﬁ Instrument Complies with Chapter 11D-8, FAC
N ”'th:D AHE DIFFERENCE BTicN O Instrument Does Not Comply with Chapter 11D-8, FAC
MG o E 008 DGS 3 Si m 7.003 . ﬁ. Return to/Place into Evidentiary Use
PErEFormED CAL A DITUSITINEWT 2 O Remain Out of Evidentiary Use
TE / UsSPE (’ ’95 S EARC: e, ﬂ Conduct an Agency Inspection Before Evidentiary Use
ate
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